Appendix 1

	Well
	Allomember/

Parasequence 
	Grain-size translation 

(mm)
	Ave Grain size (mm)

	1-6-63-26W5
	E1
	0.25-0.35
	0.3

	2-1-63-26W5
	E1
	0.25-0.35
	0.3

	5-18-62-25W5
	E1
	0.177-0.25
	0.21

	7-6-63-26W5
	E1
	0.177-0.35
	0.26

	8-6-63-26W5
	E1
	0.177-0.25
	0.21

	11-5-63-26W5
	E1
	0.177-0.25
	0.21

	11-6-63-26W5
	E1
	0.177-0.35
	0.26

	14-6-63-26W5
	E1
	0.125-0.25
	0.19

	14-28-63-1W6
	E1
	0.125-0.25
	0.19


Appendix 2

Steps of estimation of suspended load per unit width, using the Van Rijn Method (Holbrook and Wanas, 2014; Van Rijn, 1984).

1) Calculate grain size (D*)
D*=D50[((s-1)g)/ν2]1/3

Where D50 = Median particle diameter of bed material; s is the specific density of sediment = density of sediment/density of fluid; g is the acceleration of gravity; and n = kinematic viscosity of fluid (e.g., 1 × 10-6 m2/s for water at 20oC)

2) Calculate critical bed-shear velocity (u*cr). Use the Shields diagram and grain size (D*) to determine the Critical Mobility Parameter = u*cr2/(s-1)gD50
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3) Calculate the transport stage parameter (T)

T = [(u'*) 2 - (u*cr)2]/(u*cr)2

Where u'* = (g0.5/Cz)ū, and it is bed-shear velocity related to grains; where ū = Cz(RS)1/2, and ū is mean flow velocity; where Cz = (g)0.5 8.1(dm/ks)1/6 (see Parker 2006); R is hydraulic radius = area/wetted perimeter of the channel = (wc × dm)/(2 × dm + wc), and wc is channel width and dm is channel depth; S is slope; dm is mean bankfull water depth; where ks = 3D90 + 1.1∆ (1 – e-25ψ) if bedforms are assumed present (∆ is the bedform height = 3 × average cross-set thickness or dm /6 < ∆ < dm /10); where ψ = ∆/λ; where λ is bedform wavelength = 7.3 dm); 

4) Compute reference level (a) 

a = 0.5∆

where ∆ is the bedform height

5) Calculate reference concentration (Ca)

Ca = 0.015(D50/a)(T1.5/D*0.3)

6) Calculate particle size of suspended sediment (Ds)

Ds/D50 = 1 + 0.011(σs - 1)(T - 25)

Where σs =0.5((D84/D50) + (D16/D50 (Standard deviation of bedload grain size)

7) Estimate fall velocity of suspended sediment (ωs) 

where ωs is fall velocity of suspended sediments, and ωs = 10(ν/Ds){[1 + ((0.01(s -1)gDs3)/ν2)]0.5 - 1} for 100 μm < Ds < 1000 μm

8) Calculate coefficient related to diffusion of sediment particles (β)

β = 1 + 2[ωs/u*]2

where  u* = overall bed shear velocity

9) Estimate overall bed-shear velocity (u*)

u* = (gdmS)0.5
10) Calculate damping factor for local concentration (φ)

Φ = 2.5[ωs/u*]0.8[Ca/Co]0.4 (Co = 0.65)

11) Compute suspension parameter Z and Z’
Z = ωs/( β κu*)

Z' = Z+φ

where κ = 0.4 (constant of Von Karm)

12) Estimate F-factor

F = [(a/dm)Z'-(a/dm)1.2]/[(1-(a/dm)]Z'(1.2-Z')]

13) Calculate suspended load transport per unit width (qs)

qs = Fūdmca
